Panasonic

Hologram Unit

HUL7202

Hologram Unit
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H Absolute Maximum Ratings (Ta = 25°C)
Parameter Symbol | Ratings Unit
Laser beam outptt Po 0.3 mw
Laser VR(LD) 2 \%
Reverse voltage -
Monitor VR(mon) 6 \%
Supply voltage ¥ 6 \%
Operating ambient temperature  Top, —-10to +70 °’C
Storage temperature s | —40to+85 °’C

“1 Equivalent to optical output of 5 mW at laser edge

H Electro-Optical Characteristics (Ta = 25°C)

Parameter Symbol Conditions min typ max Unit
Laser beam output P CwW 0.18 0.25 mwW
Operating current dp CW Vge=420mV, \oc= 5V 23 35 40 mA
Operating voltage ¥p CW Vgg=420mV, \ec= 5V 1.9 2.4 \%
Oscillating wavelength AL CW Vge=420mV, Voc= 5V 785 800 815 nm
Focus error signal amplitude| Vge CW Vgg=420mV, \ec= 5V 180 300 420 mV
Tracking error signal amplitude | Vg CW Vgg=420mV, \ec= 5V 170 280 390 mV
Focus error signal pull-in range | Dgg CW Vgg=420mV, Vec= 5V 9 12 16 pm
Frequency characteristics (-3 dB) fc 6 9 MHz
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H Block Diagram of Circuit Functions
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1: GND 7: GND
2: Mon.in 8: (P5+P10) out
3: APC. out 9: Ve
4: (P2+P4+P8) out  10: (P3+P7+P9) out
5:Vier 11: LD (+)
6: (P1+P6) out 12: LD (-)
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